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75
Express the given fraction percentage as a ratio in the lowest form: E%

feT g s wfd=rd @ FaaH &9 H 3urd & 9 F oad I = %
a. 3:67

b3 +s y %/3 3
c. 68:3 | ’ \}7‘«*—@‘9 6 &

d. 5:7 — X6




If X% of ¥ is 100 and Y% of 7 is 400, then find the ratio between X and Z.

i v BT X% 100 B 3R 2 DT Y% 400 B, I X 31 z P &I 3Urd JId Pifoig|
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A reduction of 25% in the price of an item enables a purchaser to obtain 5 items more for Rs. 240.
The original price of the item is:
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If 50% of a number is equal to two-thirds of another number, what will be the ratio of the first
number to the second number?
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In an examination, a student requires 35% marks to pass. If Sunita gets 145 marks and fails by 23

marks, then what are the maximum marks of the examination?
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Sazia’'s income is 20% less than that of Rehana. Rehana's income is more that that of Sazia by:

IFSTaT BT 31T YT B 3T T 20% HH o | I§HT DI {17 Fifordr I 34fa &
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If the difference between 40% of a number and 30% of the same number is 70, then the number is:

Hﬁﬁ?ﬁﬁmﬂim%aﬁ/?/a—?ﬁMQSM%aﬁﬁﬂﬁmmﬁﬁm@%:

a. 800

b. 600
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Sarita expected 720 marks but got 675 marks. She got 5% less marks than what she had expected.
How many marks should she score to obtain 90% marks? I~V LOS ya

il 1 720 i} B IufiE N AT 3 675 i 1ol I 0! Srdan ¥ 59% B 3id U
fh U1 90% 3 Ut D & felu 39 T d- 3 Ul B dIigu?

a. 990

Sal F20 — 635=95 =D

c. 1100
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The difference between a number and its one-third is 520. What is 20% of that number?

Udh YW1 3R 39F U fagTs & a1 BT 3fax 520 § 1 3T BT BT 20% T 52

a. 165

b. 280
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If 60% of tax is deducted from Rahul’s salary, then Rs. 12800 is left to be paid as tax. The total tax to
be paid by Rahul is:

I gl F T W 60% FT FIET AT &, d T. 12800 TFH F & H AT FTh1 § | TGl SR 31T

foraT T aTeT For FTE:

a. Rs. 30000
b. Rs. 35000 6D /.
c. Rs.232000 .
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If 78% of a number A is equal to 32.5% of another number B, then what is the ratio of B to A?

gic Ueh AT A B 78% GURI YBAT B D 32.5% D SRI6R &, dl B BT A Y 3IUId T 52

b. 5:12 %XA’/X@ 6’%/33/,22
- — v‘yj _
c. 4:7 V)q d
20/ 433.85 ¢
d. 7:4
B | 2
_—— 3 _jr,,(__
A S "o 3
g« =/19
22.5Y S0 2




If 16% of x = 24% of vy, then how much is 24% of x? Wmd
W T
OIS x BT 16% = y DI 24%, dl x DI 24% Td-1 8IT?

a. 150% of vy R
b. 48% of y i
c. 40% of y W'/j(@%\% i I %?K ﬂ/ﬁxwyo
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45% of total candidate who appeared for an examination were girls. 75% of the boys, 80% of the

girls passed, and 144 girls failed. How many boys failed?
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In an election between two candidates, 8% of the votes were invalid. The winning candidate got 60%
of the total valid votes and won the election by 5888 votes. How many voters were registered? ~ O S ,,L
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What is 12% of 4% of 7% of 2 :-:

2 x 106 7% B 4% BT 12% [ B?

a. 386

b. 583 & . s / ~C 274mé/
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The price of a car increased by 5% while its sales decreased by 16%. What is the percentage change

in the total revenue?
YY) OS %
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If 25% of x is 40 less than 30% of (x + 60), then 35% of (x — 40) is what percent more than 120?

TS x BT 25%, (x + 60) B 30% U 40 PH B, Al (x — 40) BT 35%, 120 I fooa=T1 Ufd2rd 31w g2

a. 16
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A number is decreased by 25% and then increased by 25%. The net percentage increase or decrease
is:

U AT H 25% DI HH! bl Sldl & 3R R 25% DI glg DI o1dl & | Y& a2 3fs a1 Hl B

a. 2.5% decrease
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Two number X and Y are such that the sum of 3% of X and 2% of Y is two-third of the sum of 2% of X
and 6% of Y. The ratio of three times of X and two times of Y is:
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Two numbers are in the ratia 3:4_f 60% of the first number i 144, Yhen 30% of the second number

will be: -
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Two numbers ard\%ﬁ%/,rﬁpectiuel?, more than a third number. What is the ratio between

the two numbers: W\/D%
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In an election between two candidates, 82% of voters cast their votes, out of which 4% were found
to be invalid. The winning candidate got 108240 votes which are 55% of the valid votes. What was

the total number of votes who cast their votes in the election?
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When 55 is subtracted from a number, it reduces to its 80%. Find four-fifth of the original number.
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If Pis 220% of Q, then what percentage of P+ Q will Q be:

g p, qﬂﬂzzﬂ%% dl p + o @7 g ufawrd q g

a.37%

| 20 7/, %’a
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What is to be added to 35% of 440 so that the sum may be equal to 42% of 5507

440 & 35% H T SIIg] ST fb TN 550 D 42% D SRIEX ©l 9IU?

a. 70 25 @%M%Oaz&: wzy,aﬁggo
b. 75

e oo— “2/.0f 550 — 257 0f 940
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